MCV4U — Exam Review Day 2

1. Anairplane heads due north with a velocity of 400 km/h and encounters a wind of 100
km/h from the northeast. Determine the resultant velm:ll_}f of the a1rplane
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2. If G and b are unit vectors and the angle between them is 60°, calculate
(6 +5)ea-25).
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3. _Givend= [1511—3] , determine the Cartesian form of a unit vector in the opposite

direction as a.
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4. Triangle PQR has vertices P(4,3), Q(-8,-7) R(6.-8),
Determine the vector equation of the line that passes through R and orthogonal to QP.

'@"'p?[;%,n'g _ == -
o @= L-10, 7121 d ~[5-61 |

' oo v =] AR v [:51‘1|01 N (S



5. Given the points A(1.3.-2), B(0,3.2), C(1.1.-3), and vectors
i =[-2,13],v=[032],%=[-312],% =[6,-2,m+ 2], determine

a) [4B]

b) ABeBC

¢) the acute angle between u & v

d) the value of m such that w & x are collinear
¢) the area of triangle ABC

f) proj,u
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7.

The vectors p = [— 4 pj—E] and g = [— 2?3?6] are oriented such that cosé = Zi where 0 1s

the angle between the vectors. Determine the value(s) of p.
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In my spare time, | like to hang from cables as shown. -
If the tension in each cable is 1000N, how much do | weigh? <
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8.  Given the line r =[0,-5,7]+[-2,0,3], write a parametric equation for the line
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9. State an equation of a line that
a) Is parallel to 7 =[2,0.7] +¢[-2,5.3].and has an x-intercept of -7
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10.

Given the plane 3x + 2y - 5z -7 = 0,

a) State any point on the plane
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b) Is the liner =[1,-3,-2] +1[-2,4,~1] on the plane?
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11.

Given the vectors 5 =4, 1, -4] and b = [2, -3, 5], find two vectors that are perpendiculér to
both a and b7

axbh s A J bk
i,
S

[6-12,-8-20, =12 -2]
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